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B.Com.(Genl.)/B.Com.(CAS) DEGREE
EXAMINATION, DECEMBER - 2023
COMPUTER FUNDAMENTALS AND OFFICE TOOLS
Business Organisation
(Semester - I) (CBCS Pattern) (Regular)

(w.e.f. 2023-2024 Admitted Batch)

Time : 3 Hours Max. Marks : 75
SECTION -A
I. Multiple choice questions: - - (30x1=30)

l 1. Which ofthe following is not an economic activity?
| a) workinginafield b) working in arestaurant
¢) cooking foodathome d) working inan office
88 808 oS OO 8YE éaqséeaézﬁn 5ot
D) Do HO WoHto
2) BPCoH® HOTVoHLio
D) R03H° 835 SO
&) s’ HOIoHtso
2. Themain objective of business is

a) Toearn profits b) To provide services
c) (a)&(b) d) only(a)
a0 UEN (k) E0g); G0,
D) ' ePEReD BROTHE 8) Ve BoSHoDHEo
©) (D) & () &) (D) Soegab
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Commerce is related to :

a)
b)
c)
d)

production of goods
provision to service
Exchange of goods
Manufacturing goods

e3ey,500 HVS HOWODOTSIO:

)

)
Q)

&)

SN €58

DB DeRR0Ho
K9De (209) simgd
DD &5

Profession involves

a)
b)
c)
d)

Rendeting of persona service
Undertaking business
Undertaking contract

Social service

Q8 O 598 Dotnoe),

D)
)

Q)
&)

R D505 w0m0ws,
mﬁaaoaﬁ a&)egéo

S0LRE 865%36‘0
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5. Cattle breeding is covered under :
a) Geneticindustry b) Extractive industry
¢) Secondaryindustry d) Primary industry
HDHO DoHLo B3 0O TDS WOV
D) BDOGD
?) 208 8D HOFD |
R) 05808 (O;800) HOFd
&) HO0s HOFD
6. Whatisakey characteristic of modern business?
a) Resistance to change
b) Local market focus
c¢) Limited reliance ontechnology
d) Emphasison sustainability & di gitalfzation
SEORE a0 EB0 G30E), B0 oFs HQ0EI?
D) B HBFHED
@) VS 5RO G
R) RROSHEBR) HO[BOMR BEBHEL0
B) 38,0 S0 BELBEAS D (Y DigHio
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7. Promoting a business involves :
a) Selecting land
b) Amanging funds
¢) Selecting abusiness idea

d) Arranging investors
@0 D 0TS0 HV® B HOEVOD.
D) EHRBHBTY DoDY WrwEFHEO

Q) DD SIS0
D) DERE BHTSD DodE WwEIHEo
&) DY DD EBEISE0
8.  Theliability of a sole proprietor is :
a) Limited
b)  Unlimited
¢) Limited to Investments
d) None of these |

P08 a2;REND A0, AWEIALAK:
D) DODIB
&) ODHOBN
D) DY S5 HOS
&) 3 Iseesd |
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9. Which business organization involves sharing profits, losses
and decision making among two or more individuals? |

a) Joint stock company

b) Co-operative

c¢) Partnership

d) One personcompany

Sk 200 eRFFOAPORD $HotHEI0L0O o0 DYAHO
Bxo8tstso OB QYL S OB D8P B8O Bk,

2BHBOD.
@) EPA0) AR Boad
&) PETBE DOFID
R)  gRITREVED |
B) e 5,8 Boad
10. A Joint stock company is characterized by :
a) Unlimited liability of shareholders
b) Limited liability for shareholders
¢) Singleownership
d) Nolegalidentity
ePO00LST ARED BOBD OFRO:
D)  aERCRLEY LVIED AR ©HODBIN
&) aaenmicﬁ)e) gD 038 HOBOBR
2) 5B ofeesiei0
&)  o00E,ER0 888,50 B
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11 Mainmotive ofa co- operative organisationis to
a) Eamprofits

b) Increase sales
c) Serve the members

d) Expand business
DERSIS HOFO BN, &0 OF <O:
D) GRS
&) & HOY)
D) DgHEL DBew WoROLSE0
&) T;aRTY HOROLOTIEO
12." Inaone person company, the sole owners liability is :

a)  Limited to the value of business assets
b) Limited to the owner investment in the business

¢)  Unlimited, extending to the personal assets of the owner
d) Limitedto the profits of the business

88 D& Bodes (opc) apasng a3os, 200E92I0¢S5:
D) o a“)ad 80O DB VOB 06000

&) ohaHRY S SN VOB )00

) BDONSBH, QDB Dooes B QoY
&) @ %53RY eRgROL) VOB
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13. Location of plant is a decision taken at the time of :
a) Establishmentofaunit
b) Selectingaproduct
¢) Planning marketing activities
d) Arranging of finances
Spoko SEAS B Do & BoBgEnd’ Bro0Br0entD.

D) DL & RRWOVEIDE
) S530 Q0DE VOO
) SIS 85,50 DEBS BT
&) ©gs Doty |
14. The objective of plant layout s to:
a) Minimize productivity
b) Increase safety hazards

¢) Maximize material movement.
d) Improve workflow and productivity

2R0e5 BeHed 0oL, OF S:

D) BBBO BHoLO

Q) gpee DBV 20THE0O

D) DR BT 200 v ,

B) SBB0 HO0H HO HADEY BDIHDEEO
15. Which of the following is nota type of plant layout?

a)  Processlayout b) Productlayout
c) Fixedlayout d) Randomlayout

58 B0 TS’ HE R0k FHe) S2OO?
D) Dol BeHes ) G658 ToDS
D) ¥ S5 &) Ceots> BHEd
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16. Plant layout depends upon t

17.

18.

'§-2222

BCG/BCC-S0102

he nature of :
b) Labouravailability

jials used T
a) materials d) availability ofall resources

c) Products :
a0t5 SesHes 538 §oB 0,800 5 8eRBDNEH0E0N,

D) OIBRAODD HERLD
D) I 50,50 OB

R) eghw
&) ©f SO UTAR ) S :
The point at which average cost 1s minimum s called:

a) Marginal point b) Optirm'lm poi.nt

c) Average point d) Balancing point

0560 B BOHOTR $0G LOLDHRD DIDD BHROARLD.

D) BIROBHL0HB0 |

&) DOPRODH FPaoed

2) D5t FPonoes

&) endR,08 Ho00ed |
Which factor is not considered when measuring the size ofa
Business unit? |

a) Marketdemand b) Government policies
c) Labouravailability — d) Weather conditions

T2 S QYRS DOPSRENY £2DP a0 O €00
HOBOTIGD.
D). BB ool B) mwSERLORHD
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Which of the following is a characteristic of a business
combination?

a) Fostering competition among business
b) Diversification ofrisk

¢) Maximizinginefficiencies

d) Reducing marketshare

53 B0B) RSP a0 ARl Ha,Ed0 dIns, g0
@) @ERBO BN 5630 DoeoDOSLEO
)  HESO T, B0

D)  &0OPBORD HOTEO

&) 0005 aerd BH0T0

What is one of the causes of a business combination?
a) Encouragement of competition

b) Desire for small scale operations

¢) Wasteful competition
d) Decreased market share

TS DA HTRS 28 So8a]) BOHO.
D) DR P oeserdS

) DSOS s Beare 5550

R) 85,4530 D83

€) ERC,ES Ted BRotsoo
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21. Vertical combination take place among?

a) Interdependentfirms b) Competing firms
¢) Samecategory firms d) Diflerentcategory firms

Dend) Boows §Hed e, edrHEod.

D) DEYY WEROB HoPey &) eddoRen

R) &8 Sgo dogen &) 23 BoAS Hogen
22. Simple associations are formed to promote?
b) Common interests

a) Divergentactivities
d) Individual interests

c) Competing interests
88 808 D YIS 2R0IERE et ORERCIIND

g)géwooo.

D) DPY S Beraeen W) PwSH 6K &

D) D83 sOHe &) D818 608
23. Rationalisation was first started in : :

a) USA b) Germany

c) France d) Russia

PERGBGE Bootsedrr SPBOEIOTTDEDE)

o) US.A. &) B '

) &, &)  oan,
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24. Rationalisations encourages:
a) Standardisation of products
b) Productionofa variety of products
¢) Improvingquality of products
d) Noneofthese |

Zreoed)8ten HOD P8E8000

0) it OI08, BB

B) D At 458 Janio

R) $E)E DB Flevlovvielc el

&) 2 BDSU
25 Which ofthe following is considered the first electronic digital
computer?
a) ENIAC b) UNIVAC
¢) Colossus d) ABC
8o e HO B PogOE BRLS BouRLE 7
HOEBOTIEE0D. ‘
o) ENIAC ) UNIVAC
%) Colossus &) ABC |
26. Which of the following is an input device?
a) Printer \ b) Monitor
b c) Keyboard d) Speaker
800 TS B HOBLO HO?
| o) dotbd ) &b
p) &% &) b
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27. Whatdoes URL stand for?
a) Uniform Resource Locator
b) Universal Remote Locator
¢) Unified Resource Link
d) Unique Resource Locator
URL 308 31000087
D) ORI OV, B
D) OHROBE S OBRET G7E0E
D) QNmRIPE OV, O
&) HBE S50 7806

. 28. What is the purpose of the Hypertext Transfer Protocol

Secure (HTTPS) in web communication? |
a) To secure e-mail communication

b) To secure online banking transactions
c¢) To encrypt data exchanged between a web browser

and a website
d) Toimprove the speed of data transfer

3 BBRWEHSS? BT &6 e 8RE
(HTTPS) scinaso Hgoed?

D) [P BSRDBABK KoLBOm SotsEDs

&) ®88BS ang0Bob erarideik MEgEo BabEns

R) D535 MO Be5es 0tk gl BSoHeds Bery

tHE00SsHO8
&) e 00 Bn BoBrHHESERS
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29. B -
9 Whal. type of network covers a small geographic area, such
as a single building ora campus?

a) LAN b) MAN
o) WAN d) PAN

o8 255850 B B0 HOL DY FPEPBYE SRoTR] PUEID

D555, B0 00?
o) LAN ®) MAN
%) WAN &) PAN
30. How many bits are thereina [PV4 address?
a) 32bits b) 64bits
¢) 128bits d) 16bits
[PV4 DEomeERd® O e9eSen SRRO0T
o) 32Dbits ) 64bits
&) 16bits

2) 128bits
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II.  Fillinthe Blanks: [10><1=10] |

1. Business creates varioustypesof _____ ingoods,
S0 DO R0 DRV D)33xn0e),

2. Extemaltradeisalsocalledas__
3L S0 O ER HeORD,

3. A Jgint stock company is governed by the rules ang
regulations of the

#0065 75 B0 DOLHEIED FHO0TH DBOLHes
WR50° DY, 33R050te08),

4. Inaprivate company, the minimum number of shareholders
is ; |

- DBED BoDDSS 53] Tttt 008)

5. Plantlocation refers to the selection of'a suitable site or area
for establishing a

sROEVSBAS w30 | P0G Dot Sabiens

maximum .
BIDDOVE IR 3395308 Qheg)es (S&)tgona OO
PANOLS

; . p lm

. b 2
BODE Boveds Sthe Stmanogy D DB OSEOB

- OTSR0tSHe8) $900.
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8 One ofthe causes ofa is the desire for monopoly

pOWET.

£0ERODB0 850 §%8
9. AnlPaddress consists of
0gOND 508 $0t00d.

10. is a protocol which allows users to download
E-Mail messages from mail server to a local computer.

0 RSB0 K)Jo&@(ga)ééo@'oﬁéaﬁé)EaJowef
S BPEHE BR85S DDIRETEIOD

03335’-2, 500500
numbers.

[P Qe

$0BTON
e B0e protocol.

SECTION-B

[II. Very shortanswer questions :

(15x1=15)

1. Define Bﬁsiness
R0 QB DOTH.
2. Listthe objectives of Business.
o, 05500 0%, 3,000 BeRED:
3. EconomicC activities.
esgé 500 SIOLIVLIY

4. Whataresome essentlal co

new business?
g RROBDD 5] 5108 EOR DO

[15]

nsiderations when establishing @
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5. Whatis meant by partnership deed?
GRS, RO WA 7
6. Discuss the concept of Joint stock company.
epaoL) B BoDD @SR B0,
7. Whatis the primary factor aflecting plant location?
aROLS SBHS Her B0 B Bootses o D03,
8. Name two types of plant layouts,

Soth Bsee) 2ROk TS Beys,
9.  Whatismeant by size of firm?
R0 HOBREED W5 B ?
10. What do youmean by rationalisation?
LR
11, Kinds of Business Combinations,
RN Boowse Sepen ey,
12, Mention 2 merits of rationalization,
ULV Gk, 2 ergren Beyiso,
13. Whatis memory?
000 epiHE HB @08 Banes,
14. Define Domain Name Service,
G20 D DD DG, Dosos,

15. Advantages of fifih generations of computer.
5 & 83500 Bon, b6 G308, ergfion.
S$-2222 [16]
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IV. Matchthe following : [1071=10]
1. Trade a. TradeandAidsto
ttade
2. Commerce b. Co-operative
| societies
3. Cashtrading © ¢. Separatelegal entities
4. One person companies d. buyingand selling of
goods and services
5. Plantlayoutobjective €. proximity to raw
| | materials
6. A factoraffecting plant location f Topromote
common interest

7. Simple associations are formed g Tobring reforms in

Industry
8. Rationalisationaims h. Improve efficiency
and workflow
9. Asymmetricencryption i, Micro processers
10. Fourth generations | j.  Publicand private
key
S-2222 L (17] [PTO.
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meﬁaﬁm
SUED S

&% .8 oD

50t BHES 0F 0

RO FBHS HeRdBO
3 wodo
DCRSE OVFUCHAD
Dsemo00

?:’Jaéaa)@sma OF 0

OB DR,

45850 Bopbrf
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a.

el=akY 000 5358
FSlmarviloniLob
H5s8 HOPTD
588 SLOE B0
K)OQ&D
SRS B0
20001 ©a,Ea000
BoolHmRO)
OQRHOS?
50,6 88D
o8 3500 tStEe08
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Lateral combinations do not bring economies in marketing

costs.
PG, ¢ BoanSe 5573806 PR’ ewoed éxnéaoaé).

Rationalisation was started after first world war.
I BHOTS QPGS0 Echaeds andrend)stss FPBOZIHDONDE.

E-mail authentication can help protect against phishing
attacks. ]
R-30006 ;’.J)éoaeﬁécfea PHAQ0H Dete Ho0d BGoStEoe?

00700 DD 0.

A network location of a web page isa URL.

TR :

5 e G, BeSe5G, 0 URL. ]
v O <O
[20]
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